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PARTNERSHIP
A started a business by investing Rs. 36,000. After r e i ikgi fu-
4 month B joined him zvith someg investment. At the Pk rﬂg/laa d _phkdg fd] ké} fy; kM Us16
end of the year, the total profit was divided between xK ledle3 elg rd] N Xk ledled elg rd] o
them in the ratio of 9 : 7 how much capital was in- usl8 Xlk led €l rd r_HkP usA2 xk ka2 e
vested by B in the business? rdg% KA, in fdjk sd hjk keav dkfgll k2
fuoskdjrkg84 elg dsch B diyl i phfuoskdj | 7. Mr A opened a workshop investing 40,000. He invested
Ok ccliey ga sty e ipmlamon s e gen
'O Y dsvuk e [ jr et 0 90, TR
; ; B did not mvest any additional amount. On completion of
Kk djsB qudrmltl\hfLDSkC% four vear form theopen b
year form the opening of Wor'kshop they eamed an
A St"‘ilrteg so.rnedbﬁ.Sines.sﬁNfi{th ll{go%%ovoﬁ After 3 amount of 1,95,000. t will be A's share in the eaming -
months B joined him with Rs. 16,000. After some 1 54] i whfuoskd 2N
more time JC joined them with Rs. 25,000. At the end anh L%D R#édg%an Vdfrl dS dfu;.g(fd Alg
of the year, out of a total profit of Rs. 15,453, C gets | V. Y
Rs 3825 as his share. How many month after B joined 0 1Zd scio nhdkf K; B 85 # fuoskd] .nh
the business. did C join? &D& ed MelXog%rﬁklg/ ﬂg’ff ?ﬂ | E K
. . - 0] I Br
A us20|000 d hi whfuoskdjds d Okk 'k fd; K
3 elg dscln 5 1600 # fucca) i Ok o 100 # dsdy yhkesa dkigl kD kgsk
ey dociaviSrhdsti| o cinc K| 8. X v enersd i o arnenlin, inesing
o «dJ C(?L{ Kueﬁ #qué @ikm d]j%% g 3 Xf\;vitgldrewi Rs. 5000, while v invested 3000 more.
b d er 3 months more Z joins the business with a capita
Key gesdsidruselg ck Qkk ea pskfd ; k of Rs. 21,000. After aJyea.r they obtained a profit of
e sansda s i e, | et O TR
the halfamount more as before and B invested same X rAKY usZe’ 6|00 #- r Ak 121000 # d hi w
‘ ‘ 1 fuoskdjds, d Okk 'lg fd; A3 elg dschX us
the amount as before while C withdrew — th of the 5000 # okl fudky fy, tcfd Y 000 # v [ﬁ
their investments. Find the ratio of their prfits at the fLDSkf_d_, Anhds3elg dscla Z fuoskd
end of the year. n Okl ed ey gisc; KKk dje6400 d‘ij
A B rBKC WSVi l,hl‘l\hfl,Dﬁ(dde, d Okl kaan dkfgIJ H Z dsfgIJ sl sfdruk v fdd gS
'lq fd; A6 elg dS:l{'l_A usfuoB k L whd k\{ \_ 9. A, B and C are three partners in a business. A,
ylad He vib B wevithfulk Landsclic 18 oFthe profi. B whose moncy has beon used fo
e i , as been used for
ayk kvipfuoskdf tefd € usvi uhfuoBk i 6 months,rzzlaims 1/3 of the pro}ilit. C had invested
dk 1 Hk ok fudly fy: KKk djsod svU Iés. 156Qbfor§ months. How much money did A and
4 . ) contribute?
eantdsfd| vubk eay Itk fey gk 2, Blgrdngy(/: us d gk%ﬁﬂd@ wﬁ&“'u"\f
A started a business with Rs. 52,000 and after 4 el ’ ILDS'. <d] dg 'y 1/8 | AT
month B joined him with Rs. 39000. At the end of fd; krAkB usviuhi ph6 elg dsfy, fuoskd]
the year, out of the total profit B received total d %de k1/3 Hi 1 lr fd; l)AC us1S0 # dh
20,000 including 25% of the profit as comission |Vﬂ1 elg dsly, fuoskdiKk dlt, ArAkB
for mgnagmg the business. What amount did A re- usfd ruhi h fuosk d
ceive?
T ' : 10. A, B and C are three partners in a business. The
Awsd Okkdh'lgvk (I.D#' dhi Y\hfLDSk rofit and B's share is 3/16 of the profit and B's
dim\4 dsck B ﬂ(m dhiphfuoskdj nh Is)hare is 1/4 of the profit. If B receivels) Rs. 243, then
Okk ed o' sy W ok | udsg the amount received by B will be:
d | dk 1
B e DTN S
B X, j ruky kifey v tekd y yl{-kdk3/16ngBdky dgL
Anuj kumar makes a profit 0of9,00,000, 20% of which yhkdk1/4 h, fn C die243 # dky ek fey
is paid as taxes. If the rest is divided among the partners risB dlsfdr J ik kfeyh
1 . .
P'QandR intheratioof 1 : IE : 2, then the shares of P, 11. A, Band Crcllaecome partners 1ntha business. A
Q and R are respectively: contributes — of the capital for —  of the time B
vug dek 000 # d k_yI{-Ik dekh I ds contributes 1/5th of the capital for 1/6th of the time
20> Hik dk dj ds i edd; kt kkg&; in and C the rest of the capital for the whole time. Ifthe
1 profit is Rs. 1,820, then the A's share in profit is:
"R ykk P, Q rAkR dls@e' Ro1 : 1 2 dS A, BrAkc ,d Okl ed ki cursgBa i phd K
’ 2 ’ b .
VLEésea‘n; kt kkgprlekk djsi Rd dkfgl k 13 H« %1 e g;fsfgf g&gﬁ%v‘\ﬂhh%k
D 1 1 ) 1y
Four milkmen rented a pasture. M put to graze ! :‘lg;\ g Ef)}//l,ﬂé(!sk a];n%dﬂ yhK # di
16 cows for 3 months and N 42 cows for 4 months,
O 18 cows for 6 months and P 42 cows for 2 [ 12. A and B enter into partnership investing Rs. 48,000
months. If M's share of rent be Rs. 2400, the rent and Rs. 60,000 respectively. After 3 months, A with-
paid by O is.- draws Rs. 8,000 while B invests Rs. 6,000 after 6
months nfqtaﬁing ofbusiness Out of the total amonnt
Contact No. : 9555202436, 9716761136 2

POV PDIDD DIPP2PDPPPPDPPIVPDPI7?PoPP2?

630, 3rd Floor Near Aggarwal Sweets Mukherjee Nagar



MATHSWITHABHINAY CLASSES

13.

14.

15.

16.

17.

of profit, if a gets Rs. 12,000 as his share at the end
of the year total profit is :

ATrHB us,d Okl eade' RAZ00 # rHK
60000 # dkfuoskfd; A3 elg dsch A, 8000

fudly yskgS cfd O!’{Iﬁ'k&t Jasd 6 elg d sch
B # vipfuoskdjrkgs; in o'kl sv W eed%
yitked A dil2000 # fey R riedy yikKk dj

M, P and Q together started a business. M invested Rs.
6,500 for 6 months, P invested Rs. 8,400 for 5 months
and Q invested Rs. 10,000 for 3 months. M is working
member for which he gets 5% of total profit extra. If the
total gain is Rs. 7,400, then Q's share is :

fd; lAM Us

M, P rBkQ L%‘éa&)dj ,d Okl '

6 egud dy, # dkfuoskfd; K P usS eghus
ddy, # dkfuoskfd ; kr FkQ us3 eghusd S
, 10000 # dkfuoskfd; k1 Qklg | Hyusd g
, Mdledy ykkdk5> Hhfeyrkg8; n dy
yl{+k74(D#-ggrlstkfgIJk d

A and B started a business by investing Rs. 36000
and Rs. 45000 respectively. After 4 months B
withdraws 4/9 of his investment. Its 5 months
After she again invested 11/9 of its original in-
vestment. I% the total earned profit at the end of
the year, is Rs. 117240, then who will get more
money as a share of profit and how much?

A VIBB fdl hQkk edde’ RBG6000 # r Fk45000
# yxkk 'lvk d rh%é\éltla‘%hs:m B Vi uhi ph
dk4/9 He fudykyshgBm ds5 eghusch og
viuhew iphdk11,/9 Hi i oduoskdj reh

; n o'kt sv W eal17240 dky kgl rlsy ked S
fdl dlsvisfdrust ; svidd i kr gigs

A, b and C started a business by investing Rs.
24,000, Rs. 32000 and Rs. 18000 respectively. A
and B are active partners and get 15% and 12% of
total profit and remaining profit is to be distributed
among them in the ratio of their investment. If C

got total Rs. 65700 as a profit, what was the total
amount of profit?

A, B rBkC ,d Oklf egZe' 24000 # 32000
# rAk 18000 # djrsg8A rHk B | i,
| ksl gSFFkrdesdlﬁkyl{-kdee' RS> rHK
12> i #r %ﬁkgﬁ'l&ky dlemd stikfuob k i pwhd
vk esch/fir kt kKgB; inC disdy 66700 #1 ltr
o kgériskk dit, fd yikkdhdy jK kD KA

A and B started a business in part nership by investing
Rs. 10,000 condition of part nership is that B got Rs.
100 per month for management of the business. After
paying 5% interest on the capital annual profit has dis-
tributed in the ratio of their investment. Find the share
of their profit, If the annual profit is Rs. 4000.

AVlﬁ_B,d Okg_es@e'l@/ JJ000 #- v 54000
# dhiphfuoskd jrsgl kesfhdh'k4H3d B
disQk d_h_rﬁk-bly_ dsfy, 100 ifelg feysns\
okld ipwhij 5 ik oWdhn |sCk dk
Higr ku djusd sch y ik dlsnud stk yxk hx; h
iwhdsvugi esch/fn; kt kKA # dsoif'd
yhkked siRd dkfgl kK dit,\

Three partners invested Rs. 42000, Rs. 48000
and Rs. 32000 respetively. partnership condition
is that, each will the get interest on his capital at
the rate of 7% p.a. an(‘ig the reamining }Eroﬁt will be
divided in the ratio of their capitals. If at the end
of the year the total profit is Rs. 32940, then find
the share of A in profit.-

fdl h Okl eartu II?%’ A, B rHk Cc @' 4
42000 # 48000 # rHk # fuosk djrs

[egihdh' kZ g g9d iRd viuhiphi] 7

18.

19.

20.

21.

22,

24,

25.

26.

Okl Iy T SCR y=KT
r ' Iy ikosfuok ki pwnd sv ubk ea:le\;fn
,d odsvU eady 3290 dkykkgakgkrig
nhed sA dkfgl k%kglsk

A and B entered into a partnership, investing Rs
16,000 and Rs 12,000 respectively. After 3 months,
'A" withdrew Rs 5000, while 'B' invested Rs 5000
more. After 3 months more, C joins the business
with a capital of Rs 21,000. After a year, they
obtained a profit of Rs 26,400. By what amount does
the share of B exceed the share of C?

KkKed sgntn; KT KXK

Sita and Gita enter into a partnership. Sita
contributes Rs 5,000 while gita contributes Rs
4,000. After 1 monts, Gita Withdraws 1/4th part
of her conntribution and after 3 months from
the starting Sita puts Rs 2,000 more. When Gita
widhdraws her money at the same time, Rita
alos joins them with Rs 7,000. If at the end of
1 year there is a profit of Rs 1,218, What will
be share of Rita in the profit?

B is a sleeping partner and A working. A puts in Rs

. . 1
5,000 and B puts in 6,000. A received 125% of

profit for managing the business and rest is divided
1n propoftion to their capitals. A's share of profit in
a profit of Rs 880 is

A and B enter into partnership. A supplies whole of
the capital amountinfg to Rs 45,000 with the
condition that the profit are to be egually divided
and that B pays A interest on half of the capital at
10% per annum, but recives, Rs 120 per month for
carrying on the concern. When B's income is one-
half of A's income their total yearly profit is

A, B and C entered into a partnershi(ﬁ) by investing
Rs 12,000, Rs 15,000 and Rs 18,000, respectively.
A is also a working partner and getting 15% of the
annual profit for his work. If B and C got Rs 8,500
and Rs 10,200, respectively from the annual profit
as their shares, what amount did A get from the
annual profit?

A, B and C enter into partnership in a business with
capitals of Rs 5,000, Rs 6,000 and Rs 4,000
respectively. A gets 30 percent of the profit for
managing the business and balance is divided in
proportion to their capitals. At the end of the year,
A gets Rs 200 more than B and C together. Find the
total profit.

A and B invest Rs 60,000 and Rs 80,000 in a
business. A receives Rs 100 per month out of Porfit
for running the business and the rest of the profit is
divided in the ratio of investment. If A receives Rs
3,900 annually, B receives.

A and B enter into a partnership. A puts in the whole
capital of Rs 45,000 on the condition that the profits
will be equally divided after which B will pay A
interest on half the capital at 10% p.a. and receive
Rs 60 per month from A for carrying on the concern.
What 1s the yearly profit, if B's income is half of A's
income?

A and B enter into a partnership with Rs 50,000 and
Rs 60,000 respectively. Cjainsthemafter x months
contributing Rs 70,000 and B leaves x months before
the end of the year. If they share the profit in the

ratio of 20 : 18 : 21. then find the value of x.
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ANSWERS

1.Rs. 42000 2.Rs. 3 3.5:12:14
4.Rs. 20000 5.Rs. 160000, Rs. 240000, Rs. 320000
6. Rs. 5400 7.Rs.110000 8. Rs. 36000
9.Rs.720, Rs. 180 10. Rs. 108 11.Rs. 260
12. Rs. 30000 13.Rs. 1900 14. B, Rs. 13560
15. Rs. 370000 16. Rs. 2000 each 17. None of these
18. ... 19.Rs. 488.7 20. Rs. 460
21.Rs. 9180 22.Rs. 11300 23.Rs. 3000
24.Rs. 3600 25.Rs. 9180 26.3
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S5C CGL MAINS-2016

RAHUL RANA
INCOME TAX INSPECTOR

And Many
More ...
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